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General Instructions :

1.

The question paper contains 4 sections — A, B, C and D
1.1 Section A — Multiple Choice Questions

1.2 Section B — 2 marks

1.3 Section C — 3 marks

1.4 Section D — 5 marks

Internal choice is given in the paper, there is no overall choice.

SECTION - A

Manoj is a retired State Government employee. His retirement dues have

not been paid in full and Manoj is pursuing the matter with the

department. Identify the relevant body that Manoj can approach for

redressal.

(a)
(b)
(©)
(d)

NGT (National Green Tribunal)

CAT (Central Administrative Tribunal)

SAT (State Administrative Tribunal)

TDSAT (Telecom Dispute Settlement and Appellate Tribunal)

Ravi is a sculptor and makes idols of all popular deities. Naresh places an

order for an idol to be delivered in time for an auspicious gathering. Ravi

is able to deliver the idol a week later than agreed. Naresh was unable to

conduct ‘Pooja’ on the appointed date and sues Ravi for damages.

Which of the following will apply in this instance ?

(a)
(b)
(©)
(d)

Discharge by performance
Discharge by breach of contract
Discharge by lapse of time

Discharge by impossibility of performance

—3— 3 -3 P.T.O.
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Bhoora, a poor farmer, forced by hunger and destitution, loans ¥ 10,000

from Ajay provided Bhoora undertakes to work for him without pay for all

his life. After a year of hard labour, Bhoora stops working for Ajay.

Which of the following will apply in this instance ?

(a) Ajay can move the court as Bhoora has breached the contract.

(b) Ajay cannot enforce contract as Bhoora’s consent was not free.

(¢) Ajay cannot enforce contract because agreement was without
adequate consideration.

(d) Ajay can sue Bhoora as he hasn’t done enough work, since the
agreement was for life.

A few week after a surgery, Lata complained of excruciating pain in her

abdomen. A scan revealed that a piece of gauze had been left inside and

had led to a severe infection. Which of the following is applicable in this

instance ?

(@) The surgeon is liable for unlawful harassment, this cannot be
mistake.

(b) The surgeon is liable for negligence.

(¢) The surgeon is not liable since nothing major has happened.

(d) The surgeon is liable for tort of assault.

Identify the form of arbitration that has been defined specifically under

section 2(1) (f) of the Arbitration and Conciliation Act, 1996.

(a)
(b)
(©)
(d)

Institutional Arbitration
Statutory Arbitration
International Commercial Arbitration

Ad-hoc Arbitration

—3— 5 —3— P.T.O.
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Saba and Hamid are an estranged couple seeking mediatory help to

resolve their disputes. Being in different countries, however, is proving to

be a major hurdle. Identify which of the following is a suitable recourse.
(a) Facilitative mediation (b) Arbitration

(¢) Online mediation (d) Mediation with arbitration

The second part of Article 21 describes that one’s right to life and personal
liberty can be taken away only by

(a) the Supreme Court of India
(b) a procedure that is fair and reasonable
(¢) the State

(d) law, when it violates any other Fundamental Rights.

Meme, a suspected terrorist from an enemy country, is caught preparing
an imminent attack in a high-profile area in the National Capital. He was
arrested by the local police. Which of the following will apply in this

situation ?

(a) No one can be detained in custody without providing the grounds for

arrest.

(b) Arrested person has a right to consult and be defended by a legal

practitioner of choice.

(¢) No person can be detained beyond 24 hours without the authority of

magistrate.

(d) No safeguards apply for Meme.

—3— T —3— P.T.O.
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Bis
9. In India, advertising by lawyers is strictly restricted by 1
(a) Government regulations
(b) The Supreme Court

(¢) Bar Council of India

(d) Model Rules of Professional Conduct

10. Meena 1s a young law graduate, aspiring to practise as an advocate in a

court of law in India. Which of the following is a good way to achieve it ? 1
(a) Clear All India Bar Examination

(b) Being attached with research centres of law firms.

(¢) Clear the Judicial Services Exam.

(d) Clear the Common Law Admission Test.

11. How did Madras High Court address the issue of liberalization of legal
service sector in Indian context in its response to a PIL filed by A.K.
Balaji ? 1

(a) It ruled against opening up of Indian Legal Profession to foreign

lawyers or foreign law firms.

(b) It ruled that foreign law firms could not be permitted to setup liaison

offices in India.

(¢c) It permitted foreign lawyers to practise in India on “fly in and fly

out” basis.

(d) It recommended amendment of the Advocates Act, 1961 to prepare a

level playing field for Indian lawyers.

40 —3— 9 =2 P.T.O.
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services from the perspective of Human Rights.

Reason (R): India has ratified the International Covenant on Civil
and Political Rights (ICCPR) and is bound to provide free legal

assistance.

Analyse the statements marked (A) and (R) and select the most

appropriate response.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)1s true, but (R) is false.

(d) (A) is false, but (R) is true.

Assertion (A) : Legal Services Authorities Act, 1987 was amended in
2002.

Reason (R): The Parliament of India realized that litigation oriented
legal services cannot bring out desired result of making judicial

system accessible to all.

Analyse the statements marked (A) and (R) and select the most

appropriate response.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A) s true, but (R) is false.

(d) (A) 1s false, but (R) is true.

~3— 11 -2 P.T.O.



. T 3R T Igguehdl & THehT 319 91 <l THR o T SATIR BT b UL Th Uk

Te foaTe =1 W R | T i 39 2oft 6 sl foreeh 3Taria 39 SehR o foramg 311d 2 | 1
(%) STIER | i (@) TR ST Fr
(m  fooft statiga w (8) T BT

. AU (F) :  STAUSNE ¥Y TS (3TE.UA.3N.) h T v fova Jgu & 91e
1919 H i 7E of | 1

HROT (F) : JAUTT 1 ES 1 3239 TS <M hl 37h 31k e & foid ko1 Je=

FATR |
I () 3N (@) HUAT H1 Terwery i 3T aaiferen 3ftaa T IH |
) () 3R (@) I T E AR (@), (F) 1 HE T 2 |
(@) () 3N (@) M HE & W (@), () BT HE LR T ¢ |
M () HE &, T (@) T € |
@) () Tl &, W (@) HE |

16 | 20 : fed T I I 4 37 fed 3 yei IS 5x1=5
qfgd 3 YAT 7 delreh o fod 3Tree foram 8 3T 37! TTer Ut (real estate)

ST SaRT 31 BHT 2 | QT o TR T aTel Fete o fordl Ufga 4 TiT <l 8 | vt W

=T H BT B 8 Ul € Ufed wele o= <1 @ | 99 Hew # freferiaa wet o 3w d

. Ufed 2o v 6 forsh 2 1
() Tafermr= @) sfaRmm=
M R @) <4

. Tg W AN L T 2 1
&) = 1 fogerd (@) YR 1 fHeam

(M) are oAfrard w1 fagerma (8) TR (ST98 hEAT) 1 fgera

& &
3= 12 g



14. Roy and Annie are entrepreneurs who have a dispute with the

15.

16.

17.

40

government of their country over trade laws following an embargo.

Identify the category of law which covers these kinds of disputes. 1
(a) International Treaty Law (b) Public International Law
(¢) Private International Law (d) Municipal Law

Assertion (A) : International Labour Organisation (ILO) was set-up post
the First World War in 1919. 1

Reason (R) : International Labour Organisation (ILO) aims to provide
loans to member states for their economic development.

Analyse the statements marked (A) and (R) and select the most
appropriate response.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)1s true, but (R) 1s false.

(d) (A) 1s false, but (R) is true.

16-20 : Read the given excerpt and answer the questions that follow : 5x1=5

Rohit and Roma have filed for divorce and the distribution of their
real estate is yet to be settled. A flat that is jointly owned by them is
demanded by Rohit. Before the matter is resolved in court, Rohit sells off
the flat. In this context, answer the following questions :

The sale of the flat by Rohitis _ . 1
(a) wvald (b) 1invalid

(¢) contingent (d) legal

The legal principle applicable here is 1
(a) Doctrine of election (b) Doctrine of severability

(¢) Doctrine of lis pendens (d) Doctrine of restitution

~3— 13 -2 P.T.O.
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Which of the essentials of a valid transfer are affected in the given case ?
(1) Transfer should be between two or more living persons.

(i1) Property transferred should be free from encumbrances.

(111) Transferor must be authorised to transfer the property.

(iv) Transfer should not be for an unlawful object.

(a) () and (v) (b) (1) and (111)

(¢) (1) and (111) (d) (1) and (1v)

The mode of transfer of property varies according to
(a) wvalue of property (b) net worth of transferor

(¢) net worth of transferee (d) preference of the parties

Which of the following is an immovable property ?

(a) Timber (b) Standing crops
(¢) Grass (d) Benefits arising out of land
SECTION - B

Explain the role of judiciary as the watch-dog in Indian democracy.
OR

What is meant by the term “due process of law” ? How is the independence

of judiciary related to due process of law ?

Ashok aspires for an appointment as a District Judge. State the

qualifications for the said post in India.

Public Interest Litigation (PIL) has revolutionised the judicial activism of

the courts in India. Comment.

3= 15 -2 P.T.O.
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Analyse the two situations given below and assess the criminal liability of

the individuals :

(a) Ramawati in sheer destitution and impoverishment attempted to kill
herself after failing in all ways to arrange for food for her starving

children.

(b) A boy is sinking in a swimming pool of a resort. A man who is

besides the pool does not make any attempt to save this boy.

Would Ramawati and the man beside the swimming pool be criminally

liable ?

Pramod paid 10 lakh rupees to Alex as bribe to secure a seat for his son in
the Government Dental College. Alex i1s eventually unable to secure the
seat and Pramod sues him to recover the amount. Assess whether Pramod

has a valid basis to recover the amount from Alex.

Kaveri is considering a career in law but is worried about male
domination in the profession and a low number of successful women

lawyers in India.

Examine whether her fears are justified in present day scenario in India.

Mrs. Ranjini Singh is an elderly woman embroiled in a bitter property
dispute with her son. Her lawyer fails to turn up for court proceedings and
refuses to perform related obligations. In addition, he takes the clients’
signatures on blank watermarked papers. Identify the stipulations of the

Bar Council of India, in this situation.

Examine the provision of free legal aid in India as given under Article 39A
and Section 304(1) of Code of Criminal Procedure, 1973.

3= 17 -2 P.T.O.
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T % foTd 98 AT I T ST of TH T 3= Hid & | 389 aRfRafa 4 o 3rererd
o H SRIG) I Far |

AYA

TEAT 3T BT 3 Ueh dehfcdsh foaTg ST YUITel!l o T3 3Tees fopan 3 meawy &
AN 3794 Safeeh foare 1 g1 H 1 Y fohan | wig s9d falyg 31 T | 9 g
oM (Arbitration) % Y -ETY T (mediation) T Y TERT &HT =& 8 |

(%) UH A ! gard foH I8 fre-Jen €9 (hybrid) S s fo sfaa 2 |
(@) 39 TN o HEIEYH o fehegl &1 SN ol Jooid ot |
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SECTION - C

Judicial review has helped to preserve the constitutional principles and

values in India.
In the given context answer the following questions :
(a) To whom is the power of judicial review available in India ?

(b) Examine the scope of judicial review in the matters concerning the

legislative competence between the Centre and States.

(¢c) Can the practice of judicial review extend to Article 368 of the
Constitution of India ? If yes, how ?

Suresh is an employee of a private firm and nurses a grudge against his
colleague Atul. One morning at work, Suresh pulls back Atul’s chair just
as he is about to sit down causing Atul to be seriously injured. Identify the

tort in this instance and explain its main features.

Raju, Manoj and Anil are brothers who are joint owners of a plot of land.
In course of time, there was a tussle over the ownership and partition of
the said plot. They decide to take the matter to the Lok Adalat for
expeditious resolution. Identify three benefits of a Lok Adalat in the given

situation.
OR

Rachna and Lokesh opted for an alternative dispute resolution
mechanism and attempted to resolve their matrimonial dispute through
mediation. However, it ended in an impasse. They both desire to carry on

with mediation coupled with arbitration.
(a) Identify the kinds of cases where this hybrid is appropriate for use.

(b) State any two demerits of this type of mediation.
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Toh GUERTA § IR T8 § W T T 14 TS o ASeh ! Yog I THER Feh1ivrd fopar |
T o ITTER IRY % TR H qaeh I I&1 W@ 71 o7 3R I8 STTHEA 1 | 98 ot
A1 @ 1 o 3o g e H w@ TR Wi 31 eigeh W § 3 3% Afdes 3tmend wgen
3 | U AT Sehdl = STRIY AT 2 o T 31eparet 37t Sraersiiet 3 5l 3 fehoir
AUREAT Bl GHTA 2] Fehal | WA § 39 T4 1 9 9™ S HTHA 61 Tod: G4 o4
3R 3R (SIT) I A 1 TR W&l 3 | 36 9ol § A -gdTel i shi gaeh!
wiferEt A g € |

TRt fafts uftwe (Bar Council of India) & oiF = 1] ! TIE H |
AU

IRd T FhTeTd hi b Fogeh (@i TITRERT ol foh 31U I QU HEAT =11, 38 T
|

HSTRRR <! H1feh T o (o T et a8 | 35T o oo i |
YT

HIA T yrfeekter St % qga foRet ft Tehed i UReT R W I F AR

3JTeTerd o ITE €l kAt 7, S fafaer gfskan wfgan, 1908 o q&d e fafae &1 @ fafga

8 | e 3Terera | ffga U wfwa <t gt sAm |

el % A A ATt sieArgal W fewefl wtd gu wRa & us =i 3 % o

farferes e wferepr arferfaem, 1987 6t sreare % 2ioft o ATieht o ford fo-31esh st

TETAT ST T LA 8 |

() I ETHTSTR TR ohi ST 57k ShIROT ST Held JTevdh 81 TS |

(@) iRt s fereel Tm SR 1 oot L St S Ifeailaa Afufem o Jraem 9
AT 33T Hh |

e} 23T & Tiferd Tt | 9fae aa™ (Global Warming) i fFaifa o & sami
%I 3¢ T o ol T Atk AT (Convention) TR foham ToT | 56 wag #
T Fg- T i W gEeR R T |

() IS T 3Eh BEATRTIhd! <1l ohi TShH aLg THTfard shirft ?

@) 38 gey ® Afy i g rfard Tt 1 oo i |
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A newspaper publishes an article reporting the death of a 14-year old boy
in an Observation Home. According to the report, the deceased was placed
there following charges of theft and died by suicide. Twenty other boys
lodged in the same facility were reported to be anxious and shocked. A
social worker charged that the staff was unskilled and insensitive in
handling juveniles. Identify the body that is vested to take suo-moto
cognizance of the matter and initiate inquiry in India. List its powers in

conducting investigation into the matter.

Explain the three main functions of Bar Council of India.
OR
Explain the requirements that must be met by foreign nationals who wish

to practise law in India.

Legal aid is essential for human rights to become meaningful. Elaborate.
OR

For the purpose of holding any determination under Legal Services

Authorities Act, Lok Adalat have the same power as are vested in a Civil

Court under the Code of Civil Procedure, 1908. Enlist such power vested

with the Lok Adalats.

While commenting on the disadvantages suffered by the poor, a judge in
India said that the Preamble of the Legal Services Authorities Act of 1987
provides free legal aid to certain categories of citizens.

(a) Identify the societal changes that necessitated legal services.

(b) Mention any four categories of citizens who can benefit from the

provisions of the above mentioned Act.

A Global Convention was held to strengthen efforts to curb Global
Warming by the concerted efforts of all countries. In this regard, a multi-
lateral treaty was signed. In this context,

(a) How will this treaty impact its signatories ?

(b) State two essentials of a treaty.
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YA H ATk T o IeIa1 ol TIE L |
Jera

ITIH (tort) I 7 ? IUHcT T ! IR T&F frowanati i = it |

AT TR SAThIIeR STTafm, 2013 & JieH TR Sfed 6t e L |

AU

=T et <l ket SUTTett ST Hourmeh . |

WA Sfae™ § “GHdr o TR shi sa1ied o1 9 i |
37U

IR | UET HigeT ST o G&F S bl T8 o |

IRl I 3199 291 § AR TeHfde AfREar f afy & v usa gaftia
STIGRaTE T YT o 1 ST 2 |

() 3 AU ATATIRIHTOT T T1H FATH AT STEeh o Tr6g HHATS HT T |
@) 39 fafa () &1 am sarl fem 38 frem 1 gem foa |

@M 3 Tqudi i Afe H gt < e o w =t stoule % fowey
AR & b |

(&) zEeh! wifekmal fore g Hifia & 2
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SECTION -D
Explain the objectives of criminal law in India.

OR

What is ‘tort’ ? Explain four main characteristic features of tort law.

Examine the purpose and scope of the Lokpal and Lokayukta Act, 2013.
OR

Evaluate the adversarial system of justice dispensation.

Describe the scope of “right to equality” in the Indian Constitution.
OR

Explain the main functions of the National Commission for Women in

India.

Bosco Ongwen is accused of participating in State-sponsored terrorism

during a period of intense political instability in his country.

(a) Identify the international tribunal that can take action against

Bosco.
(b) Name the legislation that created this body.

(¢) List the categories of crimes for which this tribunal can prosecute

criminals.

(d) In what ways is its power limited ?
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